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1. The first Paleolithic tool in India was

discovered at

(A) Bhimbetka

(B) Pallavaram

(C) Nevasa

(D) Kupgal

2. Neolithic sites in Bihar show neolithic

pottery containing

(A) Plant material

(B) Bones

(C) Rice-husk

(D) Fish bones

3. The NBP has been found at

(A) Mohenjadaro

(B) Taxila

(C) Kotdizi

(D) Dabarkot

4. The earliest known hominid skeletal find

in India is found at

(A) Burzoham

(B) Kurnool caves

(C) Hathnora

(D) Bagor

1. � � ��'� ��� 	�
 �"� � 
� � � �� � � �g� ��� h� � � �"� � � �� � � �� � � � � ��� � � � �

����������������������

(A) i� ���!""#�$

(B) ��%&�����'�

(C) �'��(�)

(D) ������j� "

2. k*�+'�
�����,����h����"���������l�-����.%�
������/m"n��"�
������%�
�%o�0����1���
	"p�%�

(A) ���/2���3�(��������%�

(B) 4��������%�

(C) q��"�5�����r���

(D) 6	���������7�"�s

3. ��"�� �8q89�8���:�;�������������

(A) �'����<"�t�(�=

(B) ���2��h%

(C) �=# ">;�?

(D) �(@�+'�=# "

4. ����'����	�
�"��
��������A�������19)-���t��'��%o�0����6=��

(A) @A��'u*�

(B) �����'A�%�������<"%�

(C) �<"�=���'

(D) !��=�+'
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5. The major difference between Varna and

Jati is that

(A) Varna was formed after jati

(B) Jati was derived from Varna

(C) Varnas are only four but Jatis are

many

(D) They are unrelated

6. Ashoka is mentioned by name in the

inscription found at

(A) Dhauli

(B) Erragudi

(C) Rajulamandagiri

(D) Nittur

7. Jain philosophy is known as

(A) Syadvada

(B) Pudgala

(C) Sankhya

(D) Dvaita

8. The oldest among the Prajna Paramitha

Buddhist texts is known as

(A) Khuddaka Nikaya

(B) Sraddhotpada-Sutra

(C) Ashtasahasrika

(D) Lalitha Vistara

5. v����.Bw��;��vC�Dw�;������3���5������������3�(�������5�(5�)�

(A) C�D�����.E���������'B��xF��'y����

(B) �����'B�������0�C�D�G���H�����'��I�J

(C) ����.B%���(%�����z�C�����%��1�	�����

(D) 1�������"���1�)�@�3����'��I���F

6. 1

����>;���K���'��=�K���$�����
(�)���������9��0����6=��

(A) 3�{�

(B) 4���'����>;�

(C) �.|%���������L:

(D) ��A���'�

7. CM"I��������(N�E���O���1�#���'�

(A) l�E�(E���

(B) ������j%

(C) l��P5

(D) �'�IE���

8. � � �t}� � � �'F � � ��� !~� ���� � ����( % � 
� � � �g� ��� '�� I � ��J � .

K���$���@>;��J

(A) P����Q������.��"�

(B) �
�"�=Q�(H�����)A����

(C) 1�R��l��<"�9)�.

(D) %�����F�)N��'
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9. Kharavela of Kalinga fought with

1. Kanvas

2. Satavahanas

3. Cholas

4. Cheras

5. Pandyas

Codes :

(A) 1, 2, 5

(B) 1, 2, 3

(C) 1, 2, 4

(D) All the above

10. The main theme of Sangam literature is

(A) Philosophy

(B) Marriage

(C) War and Love

(D) Administration

11. Early Pallava inscriptions were composed

in

1. Tamil

2. Prakrit

3. Sanskrit

4. Brahmi

Codes :

(A) 1, 3

(B) 2, 4

(C) 1, 2

(D) 2, 3

9. ����������.CM"I����S���'�	�%�>����,:�=���"�������6	�
(>���

1. �.���E%�

2. 
(����(�<"����%�

3. 6=7�"�%�

4. 6	���'�%�

5. ���>��5%�

��
��
�����e

(A) 1, 2, 5

(B) 1, 2, 3

(C) 1, 2, 4

(D) T�I�������"��

10. �)����� ���l�9<"���5��
����3�(����OD���/���N�

(A) ������N�E�

(B) T ��s

(C) ��"����������������:��"����K�����

(D) ��:��%���

11. ������%&����%��
(�)�(%�����U����R�
����6(��'�

1. ���F�7�"�

2. ������/����

3. �)��)$�/����

4. �!�9<"n

	�
��
�����e

(A) 1, 3

(B) 2, 4

(C) 1, 2

(D) 2, 3
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12. The Mathura School of Art sculptured the

images of

1. Naked  figure of the Tirtankara

2. The Head of Kanishka

3. Image of the Buddha

4. The Statue of Menander

(A) 1, 2, 3

(B) 1, 2

(C) 1, 3

(D) 1, 2, 3, 4

13. Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : Harappans extensively

followed the grid system

in town planning.

Reason (R) : There are evidences of

the radial pattern in

some Harappan sites.

(A) Both ‘A’ and ‘R’ are true and ‘R’ is

the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not

the correct explanation of ‘A’

(C) ‘A’ is true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

12. ����3������'�h%H��
������"A�''I����h��H%�

1. J����@��'�V��'-������'

2. �����R�$��h��'�)��

3. @�����������D����

4. F��(�>���+'�F�����<"�

(A) 1, 2, 3

(B) 1, 2

(C) 1, 3

(D) 1, 2, 3, 4

13. J��������K���$���@>;������''�>����F�����'m"�
&�����#;"��hW�����(���5� (A)

�''�>�����J��.��'m"��"A�����(R)

�f���������
�
 (A) : � < "� �'� � H� � � �t% �� � � � �m"

� � . nm"� � 
� 1 � & � ��� � � � �� �D �

1���%�q�6(��'�

��
�����������
 (R) : �<"��'��H� l�-����.%�
� ���/�(N�.��'

������D�;��x3�(�.%��(��'��

(A) ‘A’ ����:��"�� ‘R’ �''�>��A��(�)N����z�����:��"�� ‘R’

‘A’ �M"�����$�P0X����'��I����F�����'m"

(B) ‘A’ ����:��"�� ‘R’ �''�>��A��(�)N����z�1�'���	� ‘R’

‘A’ �;��P0X����'��I����F�����'m"��.����

(C) ‘A’ �(�)N����z�1�'���	� ‘R’ ������

(D) ‘A’ ������z�1�'���	� ‘R’ �(�)N����



�������

 II� 7 A-13-02

14. Given below are two statements, one
labelled as Assertion (A) and the other
labelled  as reason (R).

Assertion (A) : Rigveda was never a
popular text.

Reason (R) : It was a ritual text.

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
the correct explanation of ‘A’

(C) ‘A’ is true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

15. Match List I with List II and select the
correct answer from the codes given
below.

List I (Chalukyan Kings)

A. Pulakesin I

B. Pulakesin II

C. Kirtivarman II

D. Vikramaditya II

List II (Achievements)

1. Founder of the Chalukyan

2. Visit of Hieun Tsang in his reign

3. Successful invasion of the Pallava
kingdom and the repulsion of Arab
invasion

4. Defeated by Dantidurga the founder of
Rashtrakuta dynasty

Codes :

A B C D

(A) 1 4 3 2

(B) 2 3 1 4

(C) 1 2 3 4

(D) 1 2 4 3

14. J��������K���$���@>;������''�>����F�����'m"�
&�����#;"��hW������(���5�
(A) �''�>�����J��.��'m"��"A���� (R)

�f���������
�
 (A) : @���	�E��������6�����'5���""�����������
��
�����������
 (R) : 1J�x6(��'��)�@�3����'��I�������������

(A) ‘A’ ����:��"�� ‘R’ �''�>��A��(�)N����z�����:��"�� ‘R’

‘A’ �M"�����$�P0X����'��I����F�����'m"
(B) ‘A’ ����:��"�� ‘R’ �''�>��A��(�)N����z�1�'���	� ‘R’

‘A’ �;��P0X����'��I����F�����'m"��.����
(C) ‘A’ �(�)N����z�1�'���	� ‘R’ ������
(D) ‘A’ �������1�'���	� ‘R’ �(�)N����

15. ��#;"���� I ����#;"���� II �=�t�����:W���;������O0W�����)��	��(%�

�)�''I�����)���A3�(�(%�����4������=�>;�8
��������
 I (��g�����
��
�h��)
A. �'������#;"����%�	�h

B. �''�>���������%�	�h

C. �''�>���������:N�����'n

D. �''�>������F�������AJ���5

	���� ���
 II (� !�����)
1. 6(7�"����5����5���l�-������>���

2. 1�������:��%�����.%��
��<"���"A� ��(���+���)������'����

3. ��%&����%T�I�Ft��"���"A�����1��'@��%� ����>����"A����
�%����:�6��>���

4. � . � R �� ��A �� � ��5 � ��l� - � � � ��� > '� I � ��� � ��� D � ��� � �'j� 6 	�D � 

�>;����@>'�����

	�
��
���� :
A B C D

(A) 1 4 3 2

(B) 2 3 1 4

(C) 1 2 3 4

(D) 1 2 4 3
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16. The first Persian poet who used Hindi/

Sanskrit words in his writings was

(A) Abu-Raihan Alberuni

(B) Minhaj-ul-Siraj

(C) Amir Khusru

(D) Zia uddin Barani

17. ‘Pallichanda’ means

(A) Rent free lands given to

Brahamanical temples

(B) Rent free lands given to Jaina and

Buddhist temples

(C) Village lands of Medieval period

(D) Village offerings of Telangana

region

18. The medieval city of ‘kol’ is presently

called with this name

(A) Delhi

(B) Ajmir

(C) Alighar

(D) Ahamadabad

19. Which of the following is not correctly

matched ?

(A) Rama Chandradev – Deogiri

(B) Pratapa Rudradev – Warrangal

(C) Viraballala – Dwarasamudra

(D) Virupaksha – Madhura

16. ������ ��:���"�� �� ���F����������'6�����%�
� 9<"����)��)$�/���

���(%������(>'�����

(A) 1@��:*� ��1� "!""��'A�

(B) F�� ��<"C "�G� "�9)�.C "

(C) 1,��+'�P���)A

(D) ?��"A�G��� ��@�.�

17. ���&6�������1����.

(A) 9<"����A��	��(%��"A%��������������""�����>�����"A�����%�

O6���W�

(B) CM"I���z�!~�����	��(%��"A%��������������""�����>�����"A�����%�

O6��W��

(C) ����3���5��"��������.�������"A�����%�

(D) �'�%��.m������������.�����(�(%�

18. ����3���5��"�������.%���(#;"�vv�=� "ww� ����m"�� ����)�N�����U

K���'��=�9�%�����@>���6�������J

(A) �;��&

(B) 1�n�+'

(C) 1�����+'

(D) 1�<"����n�(!��+�

19. U���;��J��(#;"�
��J��)�''I����t����.����

(A) �.����6��������	�� �����	����L:

(B) ����(����'������	�� ���������'����� "

(C) ,��'@7�s%����(E��'�)���������

(D) F��'A��2���������3������'
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20. The Vachana Movement was popularised

by

(A) Basaveswara

(B) Jnanadeva

(C) Vallabhacharya

(D) Shankaradeva

21. The Islamic law is called as

(A) Jahandari

(B) Dindari

(C) Shariah

(D) Shafai

22. Match the following :

List I List II

A. Sikka 1. Letter of Investiture

B. Khutba 2. Muslim theologian

C. Mansur 3. Non-believer of Islam

D. Aalim 4. Coin

E. Kafir 5. Friday prayer

Select the answer from the codes given

below :

Codes :

A B C D E

(A) 4 5 1 2 3

(B) 4 5 1 3 2

(C) 5 4 2 1 3

(D) 5 4 3 2 1

20. ���6������G���5������4�����'�����6�����'5��
�;���'�6(W��'�

(A) @�)�	�
�"E��'�>���

(B) C�}����	����

(C) ���%&��6(��'5

(D) 
�"������'�	����

21. Ol�&F��+��6������U�F3�����.�9�%����@>���6�������J

(A) t*��(:

(B) J� ��(:

(C) �R9<":��"�

(D) �R���'��

22. � � # ;" � � ���I�����#;" �����II��=�t������:W���;������O0W�����)��	��(%�


�)�''I�����)���A3�(�(%�����4������=�>;�

 I  II

A. 9)S� 1. �����������'�'��I���

B. P��(� 2. �����9)&��3�����'n�(��"�����%�

C. ����� ��)A�+' 3. Ol�&�������������n��(��'�

D. 1�� 4. �(mM"�

E. �.Y��+' 5. 
�"������(��'���(#;"������'-���

� 	�
��
����

A B C D E

(A) 4 5 1 2 3

(B) 4 5 1 3 2

(C) 5 4 2 1 3

(D) 5 4 3 2 1
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23. Krishnadevaraya defeated which Bijapur

Sultan with the support of Portuguese

soldiers ?

(A) Ahmed Shah

(B) Mohammad Shah

(C) Ismael Adil Shah

(D) Nadir Shah

24. Khalisa Lands of the Mughal period means

(A) Jagir Lands

(B) Crown Lands

(C) Fallow Lands

(D) Fertile Lands

25. Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R)

Assertion (A) : All Mansabdars were

Jagirdars but all

Jagirdars were not

Mansabdars

Reason (R) : A few Mansabdars were

paid salary in cash and

not through the

assignment of Jagirs.

(A) Both ‘A’ and ‘R’ are true but ‘R’ is the

correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not

the correct explanation of ‘A’

(C) ‘A’ is true and ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

23. U� � �;�� � ��� � ) A 0 � 0 � ��� �� kC � � � Z � +'� � ) � � � N �  �� ���� � � ;� � R B
�	�����.��"�%������'�W[�)�T)I�����%��)*��"���=��>;��6'�����

(A) 1�<"����n�+��p�

(B) �����<"����n�+��p�

(C) Ol�n�'��� "�xJ� "�p�

(D) �(J�+'�p�

24. �'������� "��.%��(#;"�P�l����"A�����%��1����.

(A) C�[�+'���"A�����%�

(B) �.6�����"A�����%�

(C) @�t��'���"A�����%�

(D) l���'����������"A�����%�

25. J � ��� � ��� K � � � $ � ��@ > ;�� ��� � ''� > ���� F � ��� �'m"� 
 &� �� ��# ;"
�hW�����(���5� (A) �''�>�����J��.��'m"��"A�����(R)

�hW�����(���5� (A) : 1������'�����������@��(��'�%��C�[�+'
� ( � �'� % � 8� � . �� 1 � � ��� �'�
C�[�+'�(��'�%�
����������@��(��'�%��.��'�

�.��'m"��"A���� (R) : ��JQ� �����J� ���������@��(��'�%����
C � [ � �' &� � �'A � � � ��� � . � ��� � > ��
� 	�� ��� ( % �� � ��� ��� ���� � �'A � � � � 

6'��&�6(��'�

(A) ‘A’ ����:��"�� ‘R’ � ( � ) N � ��� 8� � . � ‘R’ ‘A’ ����
P0X����'��I����F�����'m"

(B) ‘A’ ����:��"��� ‘R’ � ( � ) N � ��� 8� � . � ‘R’ ‘A’ ����
P0X����'��I����F�����'m"��.����

(C) ‘A’ �(�)N���� ‘R’ ������

(D) ‘A’ ������ ‘R’ �(�)N����
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26. Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : Raziya Sultana was a

successful administrator.

Reason (R) : She was ably

supported by Ulemas

(A) Both ‘A’ and ‘R’ are true and ‘R’ is

the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not

the correct explanation of ‘A’

(C) ‘A’ is true and ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

27. Given below are two statements one

labelled as Assertion (A) and the other

labelled as Reason (R)

Assertion (A) : Baji Rao I assigned

different territories to

prominent Marata chiefs as

their “Sphere of Influence”

Reason (R) : Various Marata chiefs

began to rule their

respective areas as

independent rulers from

the time of Baji Rao I

(A) Both ‘A’ and ‘R’ are true and ‘R’ is

the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not

the correct explanation of ‘A’

(C) ‘A’ is true and ‘R’ is false

(D) ‘A’ is false and ‘R’ is true

26. J��������K���$���@>;������''�>����F�����'m"�
&�����#;"��hW�����(���5�

(A) �''�>�����J��.��'m"��"A���� (R).

�f���������
�
 (A) : ��'?��"A��)���N����Ft��"���������'��I���

��:��%�(3���52����.%�

��
�����������
 (R) : x�'�������
�"�;�N����������.�G�""���A%�

�������Q�����O6(W��'�

(A) ‘A’ ����:��"�� ‘R’ �(�)N���� ‘R’ ‘A’ �����P0X����'��I���
F�����'m"

(B) ‘A’ ����:��"�� ‘R’ � ( � ) N � ��� 8� � . � ‘R’ ‘A’ ����

P0X����'��I����F�����'m"��.����

(C) ‘A’ �(�)N���� ‘R’ ������

(D) ‘A’ ������ ‘R’ �(�)N����

27. J��������K���$���@>;������''�>����F�����'m"�
&�����#;"��hW�����(���5�

(A) �''�>�����J��.��'m"��"A���� (R)

�f��������
�
 (A) : � '�� � � ��# ; "� ! ��� . � ���� F F 3 � ��

�����(%����������.�.������P�5%����
�(:�13J�.�.��;���
@>	��F3�����.

FF3���������(%������	�#��'���6(��'�

��
�����������
 (R) : �'������#;"�!���.������.%�������>;�

� ) E � ��� � � ��� � .� � ��� ��� � ��� ���

� � � � � ( % � ���� F F 3 � ��� � ��� � .�.

�����"�����%������6(��'�8

(A) ‘A’ � ��� : � �"� � ‘R’ � ( � ) N � ��� 8� � . � ‘R’ ‘A’ � ;�
P0X����'��I����F�����'m"

(B) ‘A’ ����:��"�� ‘R’ �(�)N����8� �.� ‘R’, ‘A’ ����

P0X����'��I����F�����'m"��.����

(C) ‘A’ �(�)N���� ‘R’ ������

(D) ‘A’ ������ ‘R’ �(�)N����
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28. Match the following

List I List II

A. Iqta 1. Crown lands whose
revenue was meant
for the maintenance
of Sultan and his
household

B. Khalisa 2. Land assigned to
religious persons or
institutions

C. Inam 3. Land assigned to
officers in lieu of
salary

D. Madad-i-Mash 4. Land assigned to
artists

E. Dar-ul-herb 5. Land of the Infidels
Select the answer from the codes given
below :
Codes :

A B C D E
(A) 3 1 4 2 5
(B) 3 1 2 5 4
(C) 1 3 2 4 5
(D) 4 2 1 5 3

29. Arrange the following battles of the
Mughal period in chronological order

I. Battle of Ghagra

II. Battle of Gujarat

III. First battle of Panipat

IV. Battle of Chunar

V. Battle of Khanawa
Select the answer from the codes given
below :
Codes :
(A) III   II    I    V   IV
(B) II    IV  III   I    V
(C) IV  II    V   I    III
(D) III   V   I   IV   II

28. ��#;"���� I ����#;"���� II �=�t�����:W���;������O0W�����)��	��(%�

�)�''I�����)���A3�(�(%�����4������=�>;�8

I II

A. O���N 1. �)���N� ��P��'�W��F����N�z��.6��
� �"A � ��� � % � ��� � > ;�� � ��0 W � ��
x�(��"��

B. P��) 2. �������������'�����%����z��)��)-%����
O0W������"A�����%�

C. O�(� 3. �������F����N��13J�.��'�%����
O0W������"A�����%�

D. ��������'��\����A�R 4. ���7��.��'�%������	�#��'���0���
��"A�����%�

E. �(��'��� "��<"��'! " 5. �(9)N����%���"A�����%�
	�
��
���� :

A B C D E

(A) 3 1 4 2 5

(B) 3 1 2 5 4

(C) 1 3 2 4 5

(D) 4 2 1 5 3

29. ��;�������)A0�0�����'������%���.%��
�t:L������"���(�%����
�����'��)���������������
����A>���W�����

I. ���A���.���"�������
II. ����t�.D���"�������

III. �'������#;"������# "���"�������
IV. 6����(�+'���"�������

V. �.�(E���"�������
	�
��
���� :
(A) III  II  I   V   IV

(B) II  IV  III  I   V

(C) IV  II  V   I   III

(D) III  V  I   IV  II
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30. Arrange the successors of Shivaji in

chronological order

I. Rajaram

II. Ram Raja

III. Shambaji

IV. Sahu

V. Shivaji II

Select the answer from the codes given

below :

(A) III II V I IV

(B) III I V IV II

(C) II IV V I III

(D) V III I IV II

31. The main object of the East India Company

in its trade with India was

(A) To establish markets in India for

British manufacturers

(B) To establish a monopoly of trade and

thereby to profit by it

(C) To carry away raw material for British

manufacturers

(D) To acquire territories in India

30. h�(?��(��'�)�%����������'�)����������
�1������'�W�����

I. �.C��.� ��

II. �.� ���.t

III. �R�!�?

IV. l��<"�

V. h�(? II

��
��
���� :

(A) III II V I IV

(B) III I V IV II

(C) II IV V I III

(D) V III I IV II

31. U�)��O�>;���"A�����T�������'����	�
�"��=������'N�����6	���"�������

���3�(����%2���5�

(A) �q# ;"�R�G � ��H D N � ( � �'� %� � � � �'� ���� � � � �'� ��� 	�
 �"� � 


���A�''$���%��������'H��'6����

(B) � ��� �'N � ���F 3 � ( � ��� � 
� � ��� � ( N 3 J � � � ( 5 � �� � � � � % � = � ) �

���'H��'6����

(C) �q#;"�R�G���HDN�(��'�%�����'����������>;��)��'������V�)�����

�'�7�"&>���

(D) ����'����	�
�"��
�l�-���.%������r������
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32. One of the points given below relating to

the impact of British colonialism is not

correct

(A) The British introduced the Zamindari

system in India

(B) The British colonialism led to the rise

of a class money lenders which

occupied a dominant position in the

rural economy

(C) British colonialism led to the

destruction of handloom and

spinning wheels which formed the

pivot of Indian economy

(D) British colonialism relieved pressure

on agriculture as a result number of

people given up agriculture

33. Which one of the following destroyed the

peasant’s rights over the land cultivated

by them ?

(A) Annual settlement

(B) Mahalwari system

(C) Permanent settlement

(D) Quinquennial settlement

32. U���;������O0W������1�
�"���q#�"�R����%�)�(�����������(��

�'����"�C""K)�1�
�"�������.����

(A) �q#�"�R�(��'��tF���(:� ���5����)-���������'����	�
�"��


����	�
�"T���>���

(B) ��.,�m"�x:-�������5����)-�
����>��]��(5����'�%�����.j����(:

x3J�����5�l�-���������T��������%������q#�"�R����%�)�(����

�=�<"�����>����

(C) � � � �'� ��� 	�
 �"� x: - � ��� � ��5 � �� � ) - � 
� � � � 3 � ( � ��� '�� I � ��� 6 	�� 	�� ��

����:��"��� �.�����M"�����$����'An%�������� �q# �"�R

���%�)�(������=�<"�����>����

(D) �q#;"�R����%�)�(������������.����5���l���"���T�I��DN>;�

� ��L j z� 4 � ��� $ � ��� � ��� � J� � ��5 � ��l� � �"A � �� � ��� ���

T�����

33. �U���;������U��"�@>;�������1�
�"���''I����%��M"�����$���"AF�

l�������<"����$%��������'An��6'�����

(A) ��"A����5���� "�T)#;"� "�'������

(B) �����<"� "�(:�9)�)�� ��

(C) ����'n�'�����T)#;"� "�'������

(D) ���6����� �̂��"��T)#;"� "�'���# "
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34. Who gained maximum on account of East

India Company’s monopoly over internal

trade ?

(A) The employees of the company

(B) Petty Indian traders

(C) The share-holders of the company

(D) The British Government

35. The Asiatic Society of Bengal was

founded by

(A) Raja Ram Mohan Roy

(B) Warren Hastings

(C) Sir William Jones

(D) Lord Cornwallis

36. Put the following in correct chronological

order

I. Permanent settlement

II. Subsidiary Alliance

III. Doctrine of Lapse

IV. Partition of Bengal

(A) I, II, III, IV

(B) III, II, IV, I

(C) I, IV, II, III

(D) II, I, III, IV

34. U�)��O�>;���"A�����T�_�1������'j�����(5����'������(N3J�����5�

���%&�13J�����.�����"���r�J����(��'�

(A) ����T�_�G�=5����%�

(B) ����'V��"��0%&��'��(5����'�%�

(C) ����T�_��)�<"�����l�E�����%�

(D) �q# �"�R������"����E�

35. !M"��.� "�x9)��"A#;"�+��lrT)I#�"����5���l�-������%�

(A) �.C��.���'�A�<"� ��.� "�

(B) �(��'� ��K<"9)���+��

(C) �)�+'8�F���"���C
� ��

(D) ���+']��.��'� ��(��)

36. ��;��J��(#;"���������A������������
	"m;"�
�����:N�6���>;�

I. ��:n�'��# "�T)#;"� "�'���# "

II. T)I���5��)�<"�.��'�������D

III. �.t5��)���������m"�9)�(������

IV. !M"��.� "�F��"t���

(A) I, II, III, IV

(B) III, II, IV, I

(C) I, IV, II, III

(D) II, I, III, IV



�������

 II� 16 A-13-02

37. The British introduced agrarian changes

in India with a view to

(A) Improving the conditions of India’s

peasants

(B) To fully exploit the available

resources

(C) Increasing their income from land

revenue

(D) Pleasing the Zamindars who were

their staunch supporters

38. Which poet and political thinker first gave

the idea of a separate Muslim State for the

Indian Muslims in 1930 ?

(A) Chaudhary Rehmat Ali

(B) M.A. Jinnah

(C) Mohammad Iqbal

(D) Sikandar Hayat Khan

39. Which one of the following is correctly

matched  ?

(A) “Do or Die” - Nehru

(B) “Swaraj is My Birth Right” – M. Gandhi

(C) “Give me Blood I will give you

Freedom” – S.C. Bose

(D) “Independence through Non-Violence

must be our Aim” – B.G. Tilak

37. �q# �"�R� � � � � �"� � ��E �� � � � �'� ��� 	�
 �"� � 
� � ��5 � ��l� � �"� � �'� � ��� � 


�)��)$��'m"%������	�
�"T���>(��;�����%��.��'m"�

(A) ����'V��"���''I����%���:9)-D���'����'���������'W>���

(B) 1 � � ��� ! � � � � 
�G � ���� � ��� ��� �'� % � ����F � � M"A � ���

6	���"�>���

(C) ��"AF��h�)�N��(E�.�x�(��"A���T��6����=���>���

(D) �q#�"�R�(:��������Q�����(��'��M"I����tF���(��'�%��'�����

�=�)�

38. 1930 �
����������������.�����'V��"�������Y)&�%��=�)������	�5���

�.t5��G�>(%����F�0�������Fz��.t�����"��������N�E�	����N

(A) 6{���:���'�<"����� ��1�

(B) 4�8�48�?�(�

(C) �����<"����n�+��O�.�� "

(D) 9)�;������+'��<"��"�� �S�� �

39. �;��J��(#;"�
��):�M"�I�����(�������:N�6���>;�

(A) “>��A�x�+'�>'�I�” - �'���<"A

(B) �)E�.t5���(�t���n�<"����$ – ����*�(n�.�3�

(C) vvL �  �� F ��@ & > +��\� F �  "� L �  ��� �"� �� � Y�> ���ww –

��"��)89)8!
�)

(D) vvO�>;�T��>'�� �������A��(� ������M"��M"� ��������)��q�1����+'

4�'��� ��ww� – q8?8�D%�+�
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40. Match List I with List II and select the

correct answer using the codes given

below :

List I List II

A. Theosophical society 1. Madam Blavatsky

B. Swarajist  Party 2. C.R. Das

C. Brahma Samaj 3. Raja Ram Mohan Roy

D. Arya Samaj 4. Swami Dayanand

Codes :

A B C D

(A) 1 2 3 4

(B) 2 3 1 4

(C) 2 1 3 4

(D) 4 3 2 1

41. The money-lending class which was a

product of British colonialism

(A) Helped the peasants at the time of

need

(B) Provided loans to needy farmers at

nominal rates

(C) Exploited the peasants by  charging

them exhorbitant interests

(D) Provided leadership to the peasants

revolts

40. ��#;"���� I ��#;"���� II �=�t�����:0���;������O0W���� �)��	��(%�


�):�M"�I�����)���A3�(�(%�����4������=�>;�

	���� ���
 I 	���� ���
 II

A. 3��M"Al�9����� "�lrT)I#�" 1. �	��>����!�&���#�"��$

B. �)E�.C "��� �̂ 2. 9)8x�+'8��(�)

C. �@�<"n�)���AC " 3. �.C��.��'�A�<"� ��.� "�

D. x��'5��)���AC " 4. l�EF�������"A�����+�

��
��
���� :

A B C D

(A) 1 2 3 4

(B) 2 3 1 4

(C) 2 1 3 4

(D) 4 3 2 1

41. �q# �"�R����%�)�(�����)/KR�����>��]��(5����'������'j�

(A) ����'V��"���''I����%�1����)�.��;��l���"���>(]��'�

(B) � ( � ��� � ��A � � �� � � �� � ��> �� ] � =� � '' I � ��� % � ���� � �'�m"l�� ��� �'5 �

����H�6(��'�

(C) 1���53J�������>��]��	'�&�=�����'V��"���''I����%������=9�>;�

6	�
(��'�

(D) �''I�����D��'�����!��&������(��"�����(E���1�J�6(��'�
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42. Which one of the following statements

correctly defines the term “Drain Theory”

as propounded by Dadabhai Naoroji ?

(A) that the resources of the country were

being utilized in the interest of Britain

(B) that a part of India’s national wealth

or total annual product was being

exported to Britain for which India got

no material returns

(C) that the British industrialists were

being given an opportunity to invest

in India under the protection of the

imperial power

(D) that the British goods were being

imported to the country making it

poorer day by day

43. The ‘Vatican City’ is

(A) The city of the Kings

(B) The city of the Ulemas

(C) The city of the Apostals

(D) The city of the Popes

42. �(�(!��'����{�=�����D��J�0����v�>'��'��� �����"�^w��

��;��J��(#;"�
����������������):�.����'E0�0�J

(A) �q�� �� ����M"At�(%� �=�)������'V��"�� ��������'�%�

F��M"AL���@>��������(��'��

(B) ����'����C�V��"�� �)�������
� ������������� �""�(�x

� ) � � ��� ���� �'� � 
 �� � � Z : N�G � ��H � ��� N % � ���� �q� �R � ���

4 � ��� � ��� D� 6 	� � ) � N � ��� � � H # ;"� ;��D : L� � ( # ;"� ( E � .

����'����	�
�"��4���#;"�����M"At�(%���r����>�����""����

(C) l� � � ��At5 � ( � ��� � � � � �"� � ��E� � �'2 ��m"� =� �q# � " �R

��:�
(F�����	����N%���������'����	�
�"��
�T����@>���%�

T���>(��;��1����.
�"�����%������=�J

(D) ����'����	�
(����=|�=|�;��k����	�
�"��.����A��'��)AN

�q� �  �� � �� � ) � N � ��H � ��� N % �� J � ��� � ��� D

6	���"�@>��������(��'��8

43. vv�(#;"���� ��9)#�"ww

(A) �.|%���������'�

(B) G�""���A%���������'�

(C) �'�I������A���%���������'�

(D) ����%���������'�
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44. The  prince who never stepped in to the

sea but got the title ‘Navigator’ was

(A) John II

(B) Henry VIII

(C) Philip II

(D) Louius XIV

45. The critic of Marxian theory of history is

(A) Robert Browne

(B) Thomas Carlie

(C) Trevaroper

(D) D.N. Jha

46. ‘Sigilography’ in historical method indicate

(A) Study of Inscriptions

(B) Study of Coins

(C) Study of Seals

(D) Study of Language

44. ��(>�����)��������������	�
�"��6	���"������>(�vv�(F�	���+'ww�q��'�����

�r�J������"������.|

(A) C�� � II

(B) T<"�_ VIII

(C) 9���� II

(D) %A�'���) XIV

45. ���A:$���)���6��:�����9)�(������F������'�����%�

(A) �.@�+'���!~� �

(B) �(�����)��. &̂

(C) �#M"����=T�# "

(D) >;�84� �8�A

46. 6(:��������������D�
�vv9)L�
����Y�ww������'����"�����'��)�N�J

(A) 
(�)�(%�13���5��"�����

(B) �(mM"%�13���5��"�����

(C) ���������%�13���5��"�����

(D) ���R%�13���5��"�����
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Read the following passage carefully and

choose the correct answer of the questions

that follow (Q.No. 47-50) :

The position of women in the social

structure is often marginalized in most

modern writings pertaining to the period

under study. However, that woman did

enjoy an important place in Vengi

Chalukyan society is known to us from

their visibility as patrons and their

involvement in different socio-religious

and cultural activities during this period.

A glimpse into the inscription of the Vengi

Chalukyas, shows that women during this

period did not really conform to orthodox

rules, but enjoyed considerable freedom

in disposing off their personal property

(stridhana), which they inherited from their

parents at the time of their marriage. The

Chimbuluru grant of Gunaga Vijayaditya

III refers to his wife Chella or Challaka as

the donor of the village Chimbulur to a

brahmana. The Kaluchumbarru grant of

Amma II on the other hand, referes to his

wife Chamekamba as having donated the
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�����j����
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 �!�
����"
�#$������
����"�%�������&

U� �.����;�� �)�@�3J�0����x3���������13���5��"��(%�


l� � ��A ? � ��� 6 ��� � � � 
� Y ) �� l� - � ���� � ��� : � 0 � ��� � � �l� N � ��� ��

�(�������A�����8�1�'���	�z��(��'���)���At��
����R����%��.�x

�.%����o�����l����A?���z�3�(:n����l���)$�/D�����.��'5�������%�


����j�	���(��'��.��	��[�6(7�"����5��)���At��
������'����F�l�N��'�8

1�����������P�l�-�(�	������9<"�0�����&��'����"�����)�N�J8

Y)�%�����.��)�(��������)�����(��"A%�����������������	�7�s>�����z

T ��s� � ) � ��� � �"� � � 
� � ��� ���� � ��� & � ��� � > ��� %� � ��� � > ;�� � ��0 W � ��

Y)��3��������F�R��"���
����L��������l�E��������5�����9<"�6	���(��'�

�	��[�6(7�"�����5%�
(�)�(%��6'���N�'����9)�3J��"A�#�� "!
# "

2001 : 84 �����m"���������A>����� �Ft��"AJ����5������'5

6'�%&��""����6��%&������ �!��<"nm"�>;��;��0�@�%A��'�� ��.���A��

� ( � ��F � 0 W � ��� � � � .�0 � @ % A � �'�� 
 ( � ) � ���� 6 '� � � � N � J

�O��III : 6��15 8��''�>������1����n�.|����%�6����@���'���(���


(�)�����1���������'5�6(�'���.�@����%�6����@���'����.���A��

��CM"I�(6(��'�5>����1��'̀��������������������(���F�0W�����&�6'����N�J

�O \�VII :�179����192 8�����A>������F�R�B�����'������������9)�

���>���
(�)����z��'������#;"�����@u�F�R�B�����'�����������'5�����*�	�F

������� l�9<"V� ���D��"� �'��K)�F3�����.� 
(�)���� ��'6���'���D

xt}Y�N�.����A>(�K���$����J��CM"���T<"6 ��x�+'�4� ��XVI:
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village Kaluchumbarru to a Jain teacher

Arhanandin. In the Musinikonda

inscription of Vishnuvardhana III, Ayyana

Mahadevi, wife of Kubja Vishnuvardhana

I, is mentioned as the writer and executor

of the charter, exhibiting her literary skills.

These instances throw considerable light

on the enhanced social position and the

nature of their property rights that they

enjoyed. Further, these examples also

show how women as patrons exercised

‘control’ over their wealth, its disposal and

the power and prestige they partook in, as

owner of their property, with in the socio-

economic structure of the period and

cultural significance that was attached to

the patronization of different religious

groups that provided them with social

identity.

47. The better position of women in Vengi

Chalukyan period is visible in

(A) Involvement in Socio-religious and

cultural activities

(B) Vedic Rituals

(C) Contemporary writings

(D) In temple panels

48 – 49 8� Y) �%� l����A?����G�������l�-�'��z� �(:�x 9)N

�<"����$%��)E�������U�G�(�<"��'m"����%&��������������'�%��)�N�J8

x�T�I���z����R����%��.�Y)�%����������3��������T�I�13J�.��'������L

G�>�����
z��(���O���E���
z�x9)N����"�t���A�����.7�"�s�.

1������"F�6��>����
� �(:� 
�"�;� Nz� ����'���������D�R�%�� ��������;�

G�(�<"��'m"%��6(#;"6'���N�'��8�x�T�I���z�x��.%����l����A?���z

x: - � ��� 6 ��� � � � 
� o� ���� 3 � ( :n� ���@ / � � ( % � ���� � � � � � � ���

O � ��E � � � 
 �� l� � � ) $ �/ D � ��� � � � � ��� � P 5 � ��� ���z�1 � �� Y ) �% �

l����A?��������:N������r����#����OF��)A0l�N�'����1��'�m"

��:D�2007�¡�135 8

47. � 	�� L� 6 ( 7 �"� � ��� 5 %� � � % � ��� 
� Y ) �% � ���� � '�� � �'� � '� I � ��� l� - � ���

��;��J�(#;"�
��	���
��)H�R��������������J

(A) l��9�����z��������z�l���)$�/D������'��.�
&������l�E����5�

(B) �'�IJ�����)�l�$�.�
&������l�E����5�

(C) �)�����.�������'6�����%�

(D) x%��"���)������(��"A�
&
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48. Women inherited ‘Stridhana’ at the time

of

(A) Their birth itself

(B) The death of their husband

(C) Attaining puberty

(D) Their marriage

49. Ayyana Mahadevi apart from being a

queen was also a

(A) Artist

(B) Painter

(C) Writer

(D) Dancer

50. Women’s authority over ‘Stridhana’ is

displayed through

(A) Donations of villages

(B) Donations for temples

(C) Donations to Arts and Crafts

(D) Donations to rituals

48. vY)��3�������w������Y)�%�����)������'y��
��r��	��(��'�

(A) t���n���¢

(B) ��"��'N�������'m"�����%&

(C) ��'t�)E%�1�'��������>���

(D) F�(�<"�

49. �.m;"��.�	��.����v1��"�5��������*�	�Fw������=�F3�����.����A>(

���6�����'5���r��(��'�

(A) ���7��.:m;"

(B) 0�����.:m;"

(C) ��'6���'���D

(D) �(�5����'�N

50. v Y ) � 3 � ��� ���w� � ��� 9 <"7 �"%� x 3 J � ��5 � ��� ���� � 	��� � ( E � .�@ 9 <"� �'j� ��

����'6��@>;��J

(A) ��.���A%��(����

(B) x%��"A%������(����

(C) ���7�"%����z��<"�)N���7�"%������(����

(D) �)�l�$�.%������(����
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Space for Rough Work
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Space for Rough Work


